

ON A CERTAIN CLASSES OF HARMONIC UNIVALENT FUNCTIONS ASSOCIATED WITH SRIVASTAVA-ATTIYA OPERATOR

M. Shanthi¹ and C. Selvaraj²

¹Department of Mathematics, Guru Nanak College
Velachery, Chennai - 600 042, Tamilnadu, India.

Email: shanthisurya.ravikumar@gmail.com

²Department of Mathematics, Presidency College
Chennai - 600 005, Tamilnadu, India.

Email: pamc9439@yahoo.co.in

Abstract

In this paper, we define two new classes of harmonic univalent functions in the open unit disk by using Srivastava-Attiya operator. We obtain sufficient coefficient conditions for the class of harmonic univalent functions with positive coefficients which are found also to be necessary when the coefficients are negative. Properties like distortion bounds, covering theorem, extreme points, convolution and convex combination for the functions in the class of harmonic univalent functions with negative coefficients are investigated.

AMS Subject Classification: 30C45.

Key Words and Phrases: Multivalent functions, harmonic functions, Srivastava-Attiya operator, extreme points, distortion bounds.

1 Introduction

A complex valued continuous function $w = f(z) = u(z) + iv(z)$ defined in a simply connected convex domain $D \subset \mathbb{C}$ is said to be harmonic in D if both u and v are real-valued harmonic functions in D . In any simply connected domain D , we can write $f = h + \bar{g}$ where h and g are analytic in D . We call h the analytic part and g the co-analytic part of f . A necessary and sufficient condition for f to be locally univalent and sense-preserving in D is that $|h'(z)| > |g'(z)|$, $z \in D$. See Clunie and Sheil-Small [4].

Let S_H be the class of functions $f = h + \bar{g}$ that are harmonic, univalent and sense-preserving in the open unit disk $U = \{z : |z| < 1\}$ with the normalization

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = \sum_{k=1}^{\infty} b_k z^k, \quad |b_1| < 1 \tag{1}$$

Several authors (see for example [4],[5],[6],[7],[8],[9]) had studied different subclasses of the class S_H of harmonic functions.

Srivastava-Attiya operator [1] (see also Raducanu and Srivastava [2], Prajapat and Goyal [3], Tulasiram et al. [10]) introduced and investigated the linear operator $J_{\mu,b} : A \rightarrow A$ where A is the class of all analytic functions defined in the open unit disk U . For the functions $f(z)$ of the form $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$, the Srivastava-Attiya operator, $J_{\mu,b}$ is defined as follows.

$$J_{\mu,b}f(z) = z + \sum_{k=2}^{\infty} C_k(\mu, b) a_k z^k$$

where

$$C_k(\mu, b) = \left| \left(\frac{1+b}{k+b} \right)^\mu \right| \quad \text{and } b \in \mathbb{C} \setminus \{Z_0^-\}; \mu \in \mathbb{C}; z \in U. \tag{2}$$

In this paper, two new classes $RH(\mu, b, \beta, \gamma)$ and $RF(\mu, b, \beta, \gamma)$ ($\mu \in \mathbb{C}, b \in \mathbb{C} \setminus \{Z_0^-\}, \beta \geq 0, 0 \leq \gamma < 1$) of harmonic univalent functions in $U = \{z : |z| < 1\}$ are introduced and studied.

2 The Classes $RH(\mu, b, \beta, \gamma)$ and $RF(\mu, b, \beta, \gamma)$

Definition 1. Let $f = h + \bar{g}$ be a harmonic function where

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = \sum_{k=1}^{\infty} b_k z^k, \quad |b_1| < 1, z \in U \quad (3)$$

The $f \in RH(\mu, b, \beta, \gamma)$, if it satisfies

$$Re \left\{ \beta J_{\mu,b} \left[\frac{h(z)}{z} + \left[\frac{g(z)}{z} \right] \right] + J_{\mu,b} [h'(z) + \overline{g'(z)}] - \beta \right\} > \gamma \quad (4)$$

where $J_{\mu,b}f(z)$ is defined by

$$J_{\mu,b}f(z) = \sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [a_k z^k + \overline{b_k z^k}]$$

$$b \in \mathbb{C} \setminus \{Z_0^-\}; \mu \in \mathbb{C}; z \in U$$

Definition 2. Let $f = h + \bar{g}$ be a harmonic function where

$$h(z) = z - \sum_{k=2}^{\infty} |a_k| z^k, \quad g(z) = - \sum_{k=1}^{\infty} |b_k| z^k, \quad |b_1| < 1, z \in U \quad (5)$$

The $f \in RF(\mu, b, \beta, \gamma)$, if it satisfies

$$Re \left\{ \beta J_{\mu,b} \left[\frac{h(z)}{z} + \left[\frac{g(z)}{z} \right] \right] + J_{\mu,b} [h'(z) + \overline{g'(z)}] - \beta \right\} > \gamma \quad (6)$$

where $J_{\mu,b}f(z)$ is defined by

$$J_{\mu,b}f(z) = \sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [a_k z^k + \overline{b_k z^k}],$$

$$b \in \mathbb{C} \setminus \{Z_0^-\}; \mu \in \mathbb{C}; z \in U$$

3 Main Results

Theorem 3. Let $f = h + \bar{g}$ where h and g are given by (1). Furthermore, let

$$\sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [|a_k| + |b_k|] \leq 2 + \beta - \gamma, \tag{7}$$

$$|b_1| < \frac{1 - \gamma}{1 + \beta} < 1.$$

where $a_1 = 1, \beta \geq 0, b \in \mathbb{C} \setminus \{Z_0^-\}, \mu \in \mathbb{C}; z \in U$
 Then f is harmonic univalent and sense-preserving in U and $f \in RF(\mu, b, \beta, \gamma)$

Proof. Based on the technique used in ([9], Theorem 2.1), it is preserved that f is harmonic, sense-preserving and univalent. For $|z_1| \leq |z_2| < 1$, by using (7) it can be seen that

$$\begin{aligned} |f(z_1) - f(z_2)| &\geq |h(z_1) - h(z_2)| - |g(z_1) - g(z_2)| \\ &= \left| (z_1 - z_2) + \sum_{k=2}^{\infty} a_k (z_1^k - z_2^k) \right| - \left| \sum_{k=1}^{\infty} b_k (z_1^k - z_2^k) \right| \\ &\geq |z_1 - z_2| [1 - \gamma - (1 + \beta)|b_1| \\ &\quad - |z_2| \sum_{k=2}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| (|a_k| + |b_k|)] \\ &\geq |z_1 - z_2| [1 - \gamma - (1 + \beta)|b_1|] (1 - |z_2|) > 0. \end{aligned}$$

Consequently, f is univalent in U . It is observed that f is sense-preserving in U , since by using (7), $|z| < 1$,

$$\begin{aligned} |h'(z)| &\geq 1 - \sum_{k=2}^{\infty} k|a_k| \\ &\geq 1 - \gamma - \sum_{k=2}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |a_k| \\ &\geq \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |b_k| \\ &\geq |g'(z)|. \end{aligned}$$

Now, it suffices to show that $f \in RH(\mu, b, \beta, \gamma)$ using the fact

$$Re w > \gamma \text{ if and only if } |1 + w - \gamma| > |1 - w + \gamma|$$

Substituting h and g from (3) and using (7), it follows that

$$\begin{aligned} & \left| 1 + \beta J_{\mu,b} \left[\frac{h(z)}{z} + \left(\frac{g(z)}{z} \right) \right] + J_{\mu,b}[h'(z) + \overline{g'(z)}] - \beta - \gamma \right| \\ & - \left| 1 - \beta J_{\mu,b} \left[\frac{h(z)}{z} + \left(\frac{g(z)}{z} \right) \right] - J_{\mu,b}[h'(z) + \overline{g'(z)}] + \beta + \gamma \right| \\ & = \left| 1 + \beta \left[\sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [a_k z^{k-1} + \overline{b_k z^{k-1}}] \right. \right. \\ & \quad \left. \left. + \left[\sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [ka_k z^{k-1} + \overline{kb_k z^{k-1}}] - \beta - \gamma \right] \right| \\ & - \left| 1 - \beta \left[\sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [a_k z^{k-1} + \overline{b_k z^{k-1}}] \right. \right. \\ & \quad \left. \left. - \left[\sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [ka_k z^{k-1} + \overline{kb_k z^{k-1}}] + \beta + \gamma \right] \right| \\ & = \left| 1 + \beta(a_1 + \overline{b_1}) + (a_1 + \overline{b_1}) \right. \\ & \quad \left. + (\beta + k) \sum_{k=2}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| (a_k z^{k-1} + \overline{b_k z^{k-1}}) - \beta - \gamma \right| \\ & - \left| 1 - \beta(a_1 + \overline{b_1}) - (a_1 + \overline{b_1}) \right. \\ & \quad \left. - (\beta + k) \sum_{k=2}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| (a_k z^{k-1} + \overline{b_k z^{k-1}}) + \beta + \gamma \right| \end{aligned}$$

$$\begin{aligned} &= \left| 1 + \beta + \beta \overline{b_1} + 1 + \overline{b_1} - \beta - \gamma \right. \\ &\quad \left. + \sum_{k=2}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (a_k z^{k-1} + \overline{b_k z^{k-1}}) \right| \\ &\quad - \left| 1 - \beta - \beta \overline{b_1} - 1 - \overline{b_1} + \beta + \gamma \right. \\ &\quad \left. - \sum_{k=2}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (a_k z^{k-1} + \overline{b_k z^{k-1}}) \right| \\ &= \left| 2 - \gamma + (1 + \beta) \overline{b_1} + \sum_{k=2}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (a_k z^{k-1} + \overline{b_k z^{k-1}}) \right| \\ &\quad - \left| \gamma - (1 + \beta) \overline{b_1} - \sum_{k=2}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (a_k z^{k-1} + \overline{b_k z^{k-1}}) \right| \\ &\geq 2 - 2\gamma - 2(1 + \beta)|b_1| - 2 \sum_{k=2}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (|a_k| + |b_k|) |z|^{k-1} \\ &= 2 - 2\gamma + 2(1 + \beta)|a_1| - 2 \sum_{k=1}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (|a_k| + |b_k|) |z|^{k-1} \\ &\qquad \qquad \qquad \because a_1 = 1 \\ &= 2 - 2\gamma + 2 + 2\beta - 2 \sum_{k=1}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (|a_k| + |b_k|) |z|^{k-1} \\ &\qquad \qquad \qquad \because |z| < 1 \\ &> 2[2 + \beta - \gamma - \sum_{k=1}^\infty (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (|a_k| + |b_k|)] \\ &\geq 0 \qquad \text{by (7)} \end{aligned}$$

The harmonic mapping

$$f(z) = z + \sum_{k=2}^\infty \frac{(1 - \gamma)x_k}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} z^k + \sum_{k=1}^\infty \frac{(1 - \gamma)\overline{y_k}}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} \overline{z^k} \quad (8)$$

where $\sum_{k=2}^\infty |x_k| + \sum_{k=1}^\infty |y_k| = 1$, $\beta \geq 0$ and $0 \leq \gamma < 1$, shows that the coefficient bound given by (7) is sharp. □

In the next theorem, we will prove a necessary and sufficient condition for functions f to belong to $RH(\mu, b, \beta, \gamma)$.

Theorem 4. Let $f = h + \bar{g}$ where h and g are given by (5). Then $f \in RF(\mu, b, \beta, \gamma)$ if and only if

$$\sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| [|a_k| + |b_k|] \leq 2 + \beta - \gamma \tag{9}$$

where $a_1 = 1, \beta \geq 0, 0 \leq \gamma < 1$ and $z \in U$.

Proof. Assume that $f \in RF(\mu, b, \beta, \gamma)$. Then from (4) with h and g given by (5), it can be found that

$$\begin{aligned} & Re \left[\beta J_{\mu,b} \left[\frac{h(z)}{z} + \left(\frac{g(z)}{z} \right) \right] + J_{\mu,b} [h'(z) + \overline{g'(z)}] - \beta \right] > \gamma \\ & Re \left[\beta \left[\frac{z - \sum_{k=2}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |a_k| z^k}{z} - \frac{-\sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |b_k| \bar{z}^k}{z} \right] \right. \\ & \left. + \left[1 - \sum_{k=2}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| k |a_k| z^{k-1} - \sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| k |b_k| z^{k-1} \right] - \beta \right] > \gamma \\ & \Rightarrow Re \left[\left[\beta - \beta \sum_{k=2}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |a_k| z^{k-1} - \beta \sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |b_k| \bar{z}^{k-1} \right] \right. \\ & \quad \left. 1 - \sum_{k=2}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| k |a_k| z^{k-1} - \sum_{k=1}^{\infty} \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| k |b_k| \bar{z}^{k-1} \right] > \gamma \\ & \Rightarrow Re \left[1 - \sum_{k=2}^{\infty} (\beta + k) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |a_k| z^{k-1} \right. \\ & \quad \left. - \sum_{k=1}^{\infty} (\beta + k) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |b_k| \bar{z}^{k-1} \right] > \gamma \\ & \Rightarrow Re \left[1 + 1 + \beta - \left[\sum_{k=2}^{\infty} (\beta + k) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| (|a_k| z^{k-1} + |b_k| \bar{z}^{k-1}) \right] \right] > \gamma \end{aligned}$$

$$(0 \leq \gamma < 1, \beta \geq 0, b \in \mathbb{C} \setminus \{Z_0^-\}, \mu \in \mathbb{C})$$

Now choose z to be real and let $z \rightarrow 1^-$, then

$$\begin{aligned} 2 + \beta - \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right| [|a_k| + |b_k|] &\geq \gamma \\ \Rightarrow - \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right| [|a_k| + |b_k|] &\geq \gamma - 2 - \beta \\ \Rightarrow \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right| [|a_k| + |b_k|] &\leq 2 + \beta - \gamma \end{aligned}$$

which is the assertion (9) of Theorem 4.

Conversely, assume that (9) holds true. Then from (4) with h and g given by (5) and on using (9) for $|z| < 1$, it can be found that

$$\begin{aligned} \operatorname{Re} \left\{ \beta J_{\mu,b} \left[\frac{h(z)}{z} + \left(\frac{\overline{g(z)}}{z} \right) \right] + J_{\mu,b} [h'(z) + \overline{g'(z)}] - \beta \right\} \\ = \left\{ 2 + \beta - \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right| [|a_k| + |b_k|] z^{k-1} \right\} \\ \geq 2 + \beta - \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right| [|a_k| + |b_k|] z^{k-1} > \gamma \end{aligned}$$

This shows that $f \in RF(\mu, b, \beta, \gamma)$. □

Theorem 5. Let $f \in RF(\mu, b, \beta, \gamma)$. Then for $|z| = r < 1$,

$$|f(z)| \leq (1 + |b_1|)r + \frac{|(2+b)^\mu|}{(2+\beta)|(1+b)^\mu} (1 - (1+\beta)|b_1| - \gamma)r^2$$

and

$$|f(z)| \geq (1 - |b_1|)r - \frac{|(2+b)^\mu|}{(2+\beta)|(1+b)^\mu} (1 - (1+\beta)|b_1| - \gamma)r^2$$

These bounds are sharp.

Proof. Let $f = h + \bar{g}$ where h and g are defined as in (5). Then

$$\begin{aligned} |f(z)| &= \left| z - \sum_{k=2}^{\infty} |a_k| z^k - \sum_{k=1}^{\infty} |b_k| \bar{z}^k \right| \\ &\geq (1 - |b_1|)r - \frac{|(2 + b)^\mu|}{(2 + \beta)|(1 + b)^\mu|} \\ &\quad \times \sum_{k=2}^{\infty} (k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right| (|a_k| + |b_k|)r^2 \\ &\geq (1 - |b_1|)r - \frac{|(2 + b)^\mu|}{(2 + \beta)|(1 + b)^\mu|} (1 - \gamma - (1 + \beta)|b_1|)r^2 \end{aligned}$$

The proof of upper bounds of $|f(z)|$ is similar. Hence, these bounds are sharp and equalities occur if

$$f(z) = z + |b_1|\bar{z} + \frac{|(2 + b)^\mu|}{(2 + \beta)|(1 + b)^\mu|} (1 - (1 + \beta)|b_1| - \gamma)\bar{z}^2$$

and

$$f(z) = (1 - |b_1|)z - \frac{|(2 + b)^\mu|}{(2 + \beta)|(1 + b)^\mu|} (1 - (1 + \beta)|b_1| - \gamma)z^2, \quad |b_1| < 1.$$

□

Corollary 6. Let $f \in RF(\mu, b, \beta, \gamma)$. Then

$$\left\{ w : |w| < \frac{(1 - |b_1|)(2 + \beta)|(1 + b)^\mu| - |(2 + b)^\mu|(1 - (1 + \beta)|b_1| - \gamma)}{(2 + \beta)|(1 + b)^\mu|} \right\} \subset f(U)$$

Next we determine, a representation theorem for functions $f \in RF(\mu, b, \beta, \gamma)$.

Theorem 7. Let $f = h + \bar{g}$, where h and g are defined in (5). Then $f \in RF(\mu, b, \beta, \gamma)$ if and only if

$$f(z) = \sum_{k=1}^{\infty} (l_k h_k(z) + m_k g_k(z)), \quad z \in U$$

where

$$h_1(z) = z, \quad h_k(z) = z - \frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1 + b}{k + b} \right)^\mu \right|} z^k, \quad k = 2, 3, \dots$$

$$g_k(z) = z - \frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} \bar{z}^k, \quad k = 1, 2, 3, \dots$$

and

$$\sum_{k=1}^{\infty} (l_k + m_k) = 1, \quad l_k \geq 0, m_k \geq 0.$$

In particular, the extreme points of $RF(\mu, b, \beta, \gamma)$ are $\{h_k\}$ and $\{g_k\}$.

Proof. Let

$$\begin{aligned} f(z) &= \sum_{k=1}^{\infty} (l_k h_k(z) + m_k g_k(z)) \\ &= \sum_{k=1}^{\infty} (l_k + m_k)z - \sum_{k=2}^{\infty} \frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} l_k z^k \\ &\quad - \sum_{k=1}^{\infty} \frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} m_k \bar{z}^k \\ &= z - \sum_{k=2}^{\infty} a_k z^k - \sum_{k=1}^{\infty} b_k \bar{z}^k \end{aligned}$$

where $a_1 = 1$ and

$$\begin{aligned} a_k &= \frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} l_k \quad (k \geq 2) \\ b_k &= \frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} m_k \quad (k \geq 1) \end{aligned}$$

Since

$$\begin{aligned} &\sum_{k=2}^{\infty} \frac{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|}{(1 - \gamma)} |a_k| + \sum_{k=1}^{\infty} \frac{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|}{(1 - \gamma)} |b_k| \\ &= \sum_{k=2}^{\infty} \frac{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|}{(1 - \gamma)} \left(\frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} \right) l_k \\ &\quad + \sum_{k=1}^{\infty} \frac{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|}{(1 - \gamma)} \left(\frac{(1 - \gamma)}{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|} \right) m_k \end{aligned}$$

$$\begin{aligned}
 &= \sum_{k=1}^{\infty} (l_k + m_k) - l_1 = 1 - l_1 \leq 1 \\
 \Rightarrow \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right| (|a_k| + |b_k|) &\leq 1 - \gamma + 1 + \beta \\
 &= 2 + \beta - \gamma
 \end{aligned}$$

and so $f \in RF(\mu, b, \beta, \gamma)$.

Conversely, suppose that $f \in RF(\mu, b, \beta, \gamma)$.

Let

$$\begin{aligned}
 l_k &= \frac{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|}{(1 - \gamma)} |a_k|, \quad (k = 2, 3, \dots) \\
 m_k &= \frac{(k + \beta) \left| \left(\frac{1+b}{k+b} \right)^\mu \right|}{(1 - \gamma)} |b_k|, \quad (k = 1, 2, \dots)
 \end{aligned}$$

and $l_1 = 1 - \sum_{k=2}^{\infty} l_k - \sum_{k=1}^{\infty} m_k$.

Then note that by Theorem 4, $0 \leq l_k \leq 1$ ($k = 2, 3, \dots$), $0 \leq m_k \leq 1$ ($k = 1, 2, 3, \dots$) and $l_1 \geq 0$. Consequently $f(z) = \sum_{k=1}^{\infty} (l_k h_k(z) + m_k g_k(z))$, as required. □

The invariance property of the class $RF(\mu, b, \beta, \gamma)$ under convolution and convex combination of its elements are now studied.

Definition 8. Let

$$\begin{aligned}
 q(z) &= z - \sum_{k=2}^{\infty} |a_k| z^k - \sum_{k=1}^{\infty} |b_k| \bar{z}^k \quad \text{and} \\
 Q(z) &= z - \sum_{k=2}^{\infty} |A_k| z^k - \sum_{k=1}^{\infty} |B_k| \bar{z}^k, \quad z \in U.
 \end{aligned}$$

Then the convolution of q and Q is given by

$$(q * Q)(z) = q(z) * Q(z).$$

This can be written as

$$(q * Q)(z) = z - \sum_{k=2}^{\infty} |a_k| |A_k| z^k - \sum_{k=1}^{\infty} |b_k| |B_k| \bar{z}^k \tag{10}$$

Theorem 9. Let $q \in RF(\mu, b, \beta, \gamma)$ and $Q \in RF(\mu, b, \beta, \delta)$ for $0 \leq \delta \leq \gamma < 1$. Then

$$(q * Q) \in RF(\mu, b, \beta, \gamma) \subseteq RF(\mu, b, \beta, \delta).$$

Proof. The convolution of $q * Q$ is defined by (10). It is enough to show that the coefficients of $q * Q$ satisfy the condition given in Theorem 4.

For $Q \in RF(\mu, b, \beta, \delta)$, $|A_k| \leq 1$ and $|B_k| \leq 1$. Now for the convolution $q * Q$, it follows that

$$\begin{aligned} 1 + \beta + \sum_{k=2}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |a_k| |A_k| + \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |b_k| |B_k| \\ \leq 1 + \beta + \sum_{k=2}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |a_k| + \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |b_k| \\ \leq 2 + \beta - \gamma \\ \leq 2 + \beta - \delta \end{aligned}$$

yielding the desired result. □

Theorem 10. The family $RF(\mu, b, \beta, \gamma)$ is closed under convex combination.

Proof. Let $f_i \in RF(\mu, b, \beta, \gamma)$, where

$$f_i(z) = z - \sum_{k=2}^{\infty} |a_{k,i}| z^k - \sum_{k=1}^{\infty} |b_{k,i}| \bar{z}^k, \text{ for } i = 1, 2, \dots, n.$$

Then for $\sum_{i=1}^n m_i = 1$, $0 \leq m_i \leq 1$, the convex combination of f_i may be written as

$$\sum_{i=1}^n m_i f_i(z) = z - \sum_{k=2}^{\infty} \left(\sum_{i=1}^n m_i |a_{k,i}| \right) z^k - \sum_{k=1}^{\infty} \left(\sum_{i=1}^n m_i |b_{k,i}| \right) \bar{z}^k.$$

Using (9), one can see that

$$\begin{aligned}
 & 1 + \beta + \sum_{k=2}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| \left(\sum_{i=1}^n m_i |a_{k,i}| \right) \\
 & \quad + \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| \left(\sum_{i=1}^n m_i |b_{k,i}| \right) \\
 & = \sum_{i=1}^n m_i \left(\sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |a_{k,i}| + \sum_{k=1}^{\infty} (k + \beta) \left| \left(\frac{1+b}{k+b} \right)^{\mu} \right| |b_{k,i}| \right) \\
 & \leq 2 + \beta - \gamma
 \end{aligned}$$

Therefore $\sum_{i=1}^n m_i f_i \in RF(\mu, b, \beta, \gamma)$.

The proof of the theorem is completed. □

Acknowledgement

The authors thank the referees of this article.

References

- [1] H.M. Srivastava and A.A. Attiya, On integral operator associated with the Hurwitz-Lerch Zeta function and differential subordination, *Integral Transform. Spec. Funct.*, **18** (2007), 207–216.
- [2] D. Raducanu and H.M. Srivastava, A new class of analytic functions defined by means of convolution operator involving the Hurwitz-Lerch Zeta function, *Integral Transform. Spec. Funct.*, **18** (2007), 933–943.
- [3] J.K. Prajapat and S.P. Goyal, Applications of Srivastava-Attiya operator to the classes of strongly starlike and strongly convex functions, *J. Math. Inequal.*, **3** (2009), 129–137.
- [4] J. Clunie and T. Sheil-Small, Harmonic univalent functions, *Ann. Acad. Sci. Fenn. Ser. A.I. Math.*, **9** (1984), 3–25.
- [5] H. Silverman, Harmonic univalent functions with negative coefficients, *J. Math. Anal.*, **220**(1) (1998), 283–289.

- [6] O.P. Ahuja, Planar harmonic univalent and related mappings, *J. Inequalities in Pure and Appl. Math.*, **6**(4) (2005), Article 122, 18 pp (electronic).
- [7] K. Inayat Noor, B. Malik and S.I.H. Bukhari, Harmonic functions defined by a generalized fractional differential operator, *J. Adv. Math. Studies*, **2**(1) (2009), 41–52.
- [8] S. Porwal and M.K. Aouf, On a new subclass of harmonic univalent functions defined by fractional calculus operator, *Journal of Fractional Calculus and Applications*, **4**(10) (2013), 1–12.
- [9] R. Ezhilarasi, T.V. Sudharshan and K.G. Subramanian, Harmonic univalent functions based on a fractional differential operator, *Journal of Fractional Calculus and Applications*, **5**(1) (2014), 105–113.
- [10] T. Thulasiram, T.V. Sudharsan and K. Suchitra, On certain subclass of analytic functions associated with Hurwitz-Lerch Zeta functions, *International Journal of Computational and Applied Mathematics*, **12**(3) (2017), 825–834.

